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+ (1− βj)pj,t−1︸ ︷︷ ︸
��- 
� j ����� �����	�$ �	 t−1,

��	 ������� 	
 �����	 i �	 t

]

=
∏
j∈Ni

(1− βjpj,t−1)

5,8

�
�� �
��� 	�� 
	�	� 	���
�	�
� $������ �� >����� ,� ��$ 5,8�
	�� �;��	�
�
 �
� 	�� ��
������	��
 
� � �
$� ����� �����	�$
(pi,t)� ���
!���$ (ri,t)� 
� 
�
���	���� (si,t) �	 	��� t ��� ��
���		�� �


pi,t = (1− λi)pi,t−1 + (1− ξi,t)si,t−1

si,t = ξi,tsi,t−1 + μiri,t−1

ri,t = (1 − μi)ri,t−1 + λipi,t−1

5+8

�
	� 	��	 � �
$� i �
 �����	�$ �	 	��� t �����!�� i ��

�����	�$ �	 	��� t− 1 ��$ �������$ �� 	�� �����	�$ 
	�	� �	 t�

� ��
 
�
���	���� �	 t − 1 ��$ �
	 �����	�$ �" �	
 ������
�

�	 t- ��������"� � �
$� �
 
�
���	���� �	 	��� t �� �	 ��
 �� 	��

�
���	���� 
	�	� �	 t− 1 ��$ �������$ 

 �	 t� 
� ��
 �� 	��
���
!���$ 
	�	� �	 t − 1 ��$ �
!�$ 	
 	�� 
�
���	���� 
	�	�
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!���$ �
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�
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 � 
��
�� ��
����
  �� �� 	����	!�� ������ ��� ���	�
� 	��� �	��
�� ��	 �
����
 ��� ��� ��
�  ��	 � ��� 	����	!��	��" ("������"� �
$�

��� �����$ ��
�$ 
� � ���	��� ?���	����	" ���
����@ 
��� �

$����� ���	����	"� �����!���� ���	����	" �	�- �
$�
 ��	� 	��
�����
	 ���
��	" 5$�	������$ �" 	���� ���	����	" 
�
��
8 ���
	��� ��������$- >
� ��
	����� �� � $����� ���	����	" ��
�$
����
��� 5
��� �
 	����	�$ ��������	�
�8� �
$�
 ��	� 	��
�����
	 $����� 
� �
����	�
�
 ��	� 
	��� �
$�
 ��� 
����	�$-
��������"� �� �� �����!���� ���	����	" ��
�$ ����
���� �
$�

��$����� ��.���� $�
� �� 	�� �����
	 �����!���� 
� 	��
�$������" ��	��. 
� 	�� ��	�
�� ��� 
����	�$- (��
� ���	����	"
���
���
 ���" �����" 
� 	�� ��$���"��� ��	�
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�
�
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�
��!��� ��
�$�
 �
����	�!�	"� � �
$�@
 �����	�
� ��$ ���
!9
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 ��

 ��!� � 
����4���	 �����	 �� $�	�������� �
$�@

���	�����	�
� �� 	�� 
����$��� ��
��

- � �
$� ��	� � ������ βi

�
 �
�� �����" 	
 �����	 �	
 ������
�
� ��$ � �
$� ��	� � 
������
λi 5
� δi8 �
 ��

 �����" 	
 ���
!�� ��
� 	�� �����	�$ 
	�	�- �

�� �.������ �
�
�$�� 	�
 �
$�
 u ��$ v ��	� $�����
 10 ��$
5 ��
���	�!��" ��	��� 

�� ��	�
��- C�	 βu = 0.1� βv = 0.8�
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��� �����" � $����� ���	����	" ���
���� �
$�
u ��
 � ������ ���
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�
 
�
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�
 
�
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� 	�� �
�
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 5�� 	���
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� 
����$8 
� �
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�
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�
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 ��
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Si �� � ��� �	�� �� ���� ci ��� fi� 	���� Si(ci, fi) 	�
���� ��
Si(ci)�
(
 �����!� 	��
� � ���
��� ��
�$ 
� �
$� ��
���	��
 ���$
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�
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�
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	�� ��<����� 
� �
$� ��
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� 	�� �����	�
� ��
��

� ��$
��

 �
� $�
������ 	�� ��������	�
� 
	��	��"-

fi =
�����	�
� ��	� 
� �
$� i
���
!��" ��	� 
� �
$� i

5)8

>
� ���0� �
$��� fi = βi/λi� ��$ �
� ���� �
$��� fi =
βi/δi ��
 ���� ��

��- ������	�
�
 $
�� �
� 	��
 ����� 
�
�
�

$ ��
��	
 ��	� 	��
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 ��
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� ��
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�
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�
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���
���
 D $����� ��
�$ ��$ ����� !���� ��
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� ��9
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 ��
 ���� ��
!�� ��$ �
	����
��$ �� 	�� ��	���	���
5�-�-� 6,G78- (�� $����� ��
�$ ��$ ����� !���� ��
�$ ���
���

��� $�
�����$ ���
�-

2��3��= ci,d = $����� 
� � �
$� i
B��3��= ci,e = emax − emax,i

5E8

����� emax �
 	�� �����
	 �����!���� 
� 	�� �$������" ��	��.

� 	�� ��	�
�� ����� ��$ emax,i �
 	�� �����
	 �����!���� 
� 	��
�$������" ��	��. 
� 	�� ��	�
�� ����� ��	�� ���
!��� �
$� i-
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���� ����	�
�
 Si� ����� ���
��
��	� �
	� ��	�
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�����	
 ��$ �
$� ��
���	��
 ��� �� ���		�� �
�

�2��3��= Si,d = (ci,d)
a (fi)

b

�B��3��= Si,e = (ci,e)
a (fi)

b 5H8

����� a ��$ b ��� �� ��" ���� ������
- >
� 	��
 ������
a ∈ {1, 2} ��$ b ∈ {1/2, 1} ��
 ���� �
�$ �
� �.�������	

��$ ��
��	
 ���
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�
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�
���� ����	�
�
 ����
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	���	 	�� ������ 
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���� 	��	 S ��� �� ��" ����
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�
�
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�
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